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JNBY-D-MTK

2% _1 &r 2% _ 1 29t #t fanfm w0 T | 5.

a8 I 9 ;1R 0
(a) 34

(b) 90

(¢ 127

(d) 129

10 F AUHW oaE TR A OPEmE
(product) 29 x 28 x 27 x ... 2 x 1 &I fawfoa
FAE?

657 Ht 11 ¥ fawfom =0 W Fwwa =1 €m 2

a) 0
{(by 5
(c) 9

(dy 10

Qﬁmx2~bx+c=5%1ﬁﬁﬂﬁ?ﬂ5?,
A frefafer i @ FRm wd 2 2

(a) b=4dc+5
(b) cZ=4b-5
(c) b2+c =5

(d b*-c=5

(2-A)

150 @ i = qE A, 75 AN 9@ o §,
60 WM HTE! Td F 3R 50 AM gy o & | I
¥ 15 9 3R FE A 9 &, A qu ol
aren 8 ft I am W dar 2 3R T d
TH A FH-UHH UF 9T o1 2, @ dhae
3y o T el Y Fe fhe R 0

(a) 50

(b) 40

() 30

@ 20

A, B, C,D ¥ E & 90 I& Hd & |
a2:3:4:5:6%@ﬁﬁ@ﬁﬁaﬂ$ﬁ
§ | WY, ITH gR @MU T G H I
6:5:4:3:28 | AR dfq IR Twen @ Few

fépu o wmm sk ol % g 2, @t o
ged Afis @ g g o

(a) C

(b) B3 Dl

(¢) C3MN DA

(d) B B TO AN B

freferfiga semat @ famm $ifv

1. 437

2. 797

3. 1073

Twi FEmat § e Head s ¥ 2
(a) hadl Teh

(b) Haw qf

(c) aftd=

& w1 st T
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JNBY-D-MTK

What is the largest number which divides both | 5.
2% _1 and 2% - 17
(a) 34
(b) 90
(c) 127
(d 129
What is the largest power of 10 that divides
the product 29 x 28 x 27 x...2x1?
(a) 4 6.
by 5
(¢) 6
d 7
What is the remainder when 65 is divided by
11?
(a) 0
(b) 5
fcy 9
d) 10 .
If the roots of the equation x> -bx+c=5
differ by 5, then which one of the following is
correct ?
(a) bi=dc+5
(b) ¢*=4b-5
© b +c=5
d) b2-c?=5
(3-A)

In a party of 150 persons, 75 persons take tea,
60 persons take coffee and 50 persons take
milk. 15 of them take both tea and coffee, but
no one taking milk takes tea, If each person in
the party takes at least one drink, then what
is the number of persons taking milk only ?

(a) 50
(b) 40
(¢ 30
d) 20

A, B, C, D and E enter into a business. They
invest money in the ratio 2 : 3 :4:5 : 6.
However, the time invested by them is in the
ratio 6 : 5: 4 : 3: 2. If the profit distributed is
directly proportional to time and money
invested, then who receives the highest
amount of profit ?

(a) C

(b) BothBandD

(¢) BothCandD

(d)  All get equal profit

Consider the following numbers :

1. 437
2. 797
3. 1073

How many of the above numbers are prime ?

(a) Only one

(b) Only two
(c)  All three
(d) None
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8. ATH S F BH gon ¥ g wfa @ |y,
a1 2 | T el B I wE I ¢ h gor
¥ 15T M E W EHA R | it e
% ® 12 ot & gue W= gwd | C e
38 & R e ft 8 qof o v 20
(@) 36fm
by 45f
© s60f
d e6fA
12.
9. 2 IF H Tk GG F IR H AMHA 122 |
afg A B EEEed fem Sm, @ sew
3N W TR | TG H IH b T F FR
2?2
(a) 1
b 2
(cy 3
(d) 4
13.
10. % WM A, fuha Rm @ @ @
e § qE W @ T & H I A
10 ¥0E @ & | wAfs, afe dl temisal
oo e # w1 @ @ @ 3 20 GH9E @
§ | vecht TWmEt 1 @ 200 m ? 3R gEA
WA AN 150 m 2 | TRA TS = =
27
(a) 60 km/hr
(b) 56 km/hr
() 54 km/hr
(d) 52 km/hr
JNBY-D-MTK (4-A)

M a, b, ¢, d, e A,
2a = 3b = 6¢ = 9d = 12¢ = 18f I HJT FA &,
?ﬁ(a+b)/{c+d+e+ﬂ EF»I'HF{WT%?

(a) 4f7
(b) 2

(¢) 5/2
@ 9/2

M a, b, ¢ AW arcafas FEAN £, 3| THR
ﬁa+b+c=0%,ﬂmax2+bx+c=0
FAARTE?

(a) 2,1+(c/a)
(b) 1, afc
€ 1,¢fa

@ 2 (cfa)-1

% fashar g @l T Fell § @ Awg Wowa
hel goTs % IR TE R 1A & | AR w9 g
Fal 1 S A foshan F T 4% F AW B
# | Tt fehen b1 ¢ ot e T T ga A
dt 98 3R T T T HA F o WA
a1, @t Juh o sfawen fore Bt 2

1
8=%
(a) 9
1
b — %
(b 911 /]
2
18 — %
(¢) 811
(@ I ° @ g T
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8. A can do a certain work at twice the speed of |11.
B. Further, B can do the same work at
1'5 times the speed of C. All of them together
can finish the work in 12 days. In how many
days can C alone finish the work ?
(a) 36 days
(b) 45 days
(¢) 60days
(d) 66 days
12.
9.  The sum of digits of a 2-digit number is 12.
When the digits are reversed, the number
becomes greater by eighteen. What is the
difference between the digits in the number ?
(a) 1
(b) 2
ey 3
d) 4
13.
10. The time taken by a train to cross a man
travelling in another train is 10 seconds, when
the other train is travelling in the opposite
direction. However, it takes 20 seconds, if both
the trains are travelling in the same direction.
The length of the first train is 200 m and that
of the second train is 150 m. What is the speed
of the first train ?
(a) 60 km/hr
(b} 56 km/hr
(¢) 54 km/hr
(d) 52 km/hr
JNBY-D-MTK (5-A)

If a,b,¢,d, e and f satisfy
2a = 3b = 6¢c = 9d = 12e = 18f, then what is the
valueof (a +b)f(c +d +e + ?

(a)  4/7
(b) 2

) 5/2
(d) 9/2

If a, b, ¢ are non-zero real numbers such that
a +b+c¢=0, then what are the roots of the

equation ax’ +bx+c =07

(@) 2,1+(c/a)

(b 1,alc
(¢) 1,¢a
d) 2 (cfa)-1

Twelve percent of bananas bought by a fruit
vendor got lost during transpertation. On
selling the remaining bananas, the vendor’s
overall profit turned out to be 4%. If the
vendor had not lost any bananas and had sold
them at the price of the remaining bananas,

what would have been his profit percentage ?

(a) 81%
g9
1
(b)) 9—%
11
2
¢} 18—%
11

(d) None of the above
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14,

15.

16.

JNBY-D-MTK

A (5 + 342) (5 - 32 ) &1 AT TA «
2, W 8+ 20 YATHS TS FT § 2

(@ 2+43

(b 3-2
0 J7-1

@ 7 +1

e ek fowm s (1 @ w91) H =% a9
g &l 8 A fawfsa fem 9w, & 99wa F
g 2

(a) 3

(d) Tg S T 2 fh v 1 @ R

Frafafgd su v fa=m Fifsw

1. 3 nuH H‘l‘{?f HE (natural number)
2 .
nn” +2) .4 T Y FE

3, dl g@n
2

2. AR m T fawm [IF (odd integer) &, @

4 2
m* +4m“ +11 e W
16
(integer]% I

IR HeAl O A B T 0
(a) Had 1

(b) Had 2

(¢ 13 23F

d Fd 1,382

e |

17.

18,

19,

20,

%ﬁmﬂm%%n—l,naﬂ'{n+lﬂﬁ
5 famfm @ w@, 9@ 0w W plw
(positive integer}'a | frafafea 4 @ swa
TR 2?2

(a) (n®+ D 5 fwfm w2

(b) (n®- 1) 5 fawfoa w2

©) (n®+n)® 5o ww ?

(d) (n®-n)= 5 fanfsa s 2

5 37! <! 9% HEE wE N S 7, o A
18 3R 11 ¥ fawfsm fen s, @ Swwa
7 ST 8 2

(a) 99981

(b) 99988

(c) 99997

(d 99999

U UM o427 §, A3 B T 20,0007 3
s are eI 2 MBI AF T 12,000
HEMaad g fog I & | o/ 9 3/ 5% H
T A YR A Wl B 9T 8 | 39
fagert # @ foraan e am 2

(a) SHI e &

(b) B, T 6,000 A 2
(c) A, ¥ 6,000 M
(d) A, T 4,000 BFH M

30 BET I TIvA A Tfo § 3fTa 9 65 2
AN 35 B 9 9 B § v § afted o7
708 | afe /e § a8 v o & T sl R
w gfafe § 47 % R W radt @ 74 ferr mn
2, a1 S TaeEl & aftga i (o) F= E 2
(a) 6728
(b) 6758
() 6811

(d) 6863
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14. If the  positive square root  of
(5 + 3v2) (5 - 34/2) is «, then what is the
positive square root of 8 + 20 ?

(@) 2++3
b 3-2
(€ V7 -1
) V7 +1

15. When every even power of every odd integer
(greater than 1) is divided by 8, what is the
remainder ?

(a) 3
(b) 2
) 1
(d) The remainder is not necessarily 1.
16. Consider the following statements :
1. Ifnis a natural number, then the
2
number nn_+2 is also a natural
number.
2. Ifmisan odd integer, then the number
16 ger.
Which of the statements given above is/are
correct ?
(a) 1lonly
(b) 2only
{c) Bothland?2
(d) Neither 1 nor 2
JNBY-D-MTK

17.

18.

19-

20.

(7-A)

It is given that 5 does not divide n — 1, n and
n + 1, where n is a positive integer. Which one
of the following is correct ?

(@) 5 divides(n®+ 1)

(b) 5 divides (n® - 1)

(¢ 5 divides (n®+n)

(d) 5 divides (n® - n)

What is the largest 5-digit number, which
leaves remainder 7, when divided by 18 as

well as by 117

(a) 99981
(b) 99988
(e) 99997
(d) 99999

In a business dealing, A owes B ¥ 20,000
payable after 5 years, whereas B owes A
T 12,000 payable after 4 years. They want
to settle it now at the rate of 5% simple
interest. Who gives how much money in this

settlement ?

(a) Both are at par

(b) Bgives T 6,000t0 A
() Agives T 6,000toB
(d) Awgives T 4,000t0 B

Average marks in Mathematics of Section A
comprising 30 students is 65 and that of
Section B comprising 35 students is 70. What
are the average marks (approximately) of both
the sections if it was detected later that an
entry of 47 marks was wrongly made as 74 ?

(a) 6728

(b) 67-58
() 6811
(d) 6863
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21.

22,

23.

JNBY-D-MTK

R o R pEHET 2~ Tx+ 120 % W &,
W ootep! MARRIE?

(@) 2207
(b) 2247

(© 2317

(d) 2337

360 & i TrEs (¥FR) F oued #
freferfgn wemi w famm Hifo

1. e 6 g 248 |

9. @t UGSl H1 WTES 11702 |

i F @ Aad v v

(a) a9 1

(b) a2

(© 13¥ 23R

d TN LI 2

XYXYXY € 6-3/hg w&m & st § fo=R
H | TR ISE B

(a) whawd 33 749
(b) ¥ 73N 138
(¢c) 3,133 378

d 3,7 133374

24.

25.

26.

27,

(8-A)

32993t 3® _gFHCF®I} 7
@ 3%-1
b 3"-1
© 3"-3

@ 3l-9

A x= 4ya)afd... R A xTAR TR ?

(a 2

W?ﬂﬁ'ﬂmaﬁ(nﬁmﬁ@ﬁﬁl(m+n)w
7w WA F&1 § Frad 6 33m + 220, 1210
TR 2

3 TEAIRT 1 PHAGA 2160 § 3 IFH HCF
122 | If2 ST dEad & I T ATEA 4896
8, Ot S TN w1 AT R 7
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21. If o and P are the roots of the equation
X -Tx+1-= 0, then what is the value of
ol +pt7
(a) 2207
(b) 2247
(c) 2317
(d) 2337
22, Consider the following statements in respect
of all factors of 360 :
1. The number of factors is 24.
2. The sum of all factors is 1170.
Which of the above statements is/are correct ?
(a) lonly
(b) 2 only
(c) Both1land?2
(d) Neither 1 nor 2
23. Consider a 6-digit number of the form
XYXYXY. The number is divisible by :
(a) 3 and 7 only
(b} 7 and 13 only
(¢) 3,13 and 37 only
(d 3,713 and 37
JNBY-D-MTK

25.

26.

27,

(9-A)

What is the HCF of 3% —9and 3% -9 7
(a) 3°-1
m 311
© 3"-3

@ 3'-9

If x = 4#4 4,/4... , then what is the value

of x 7

(a) 2

Let m and n be natural numbers. What is
the minimum value of {m +n) such that
33m + 22n is divisible by 121 ?

(a) 3
(b) 4
e 5
(d 10

The product of two numbers is 2160 and their
HCF is 12. If the sum of the squares of the two
numbers is 4896, then what is the mean of the

two numbers ?
(a) 24

(b) 36
(c) 48

(d) 96
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28. QR AP PHA I A 3 Afuw & | R A

29,

30.

JNBY-D-MTK

Y P& A H g} ol Q H g S H
oy 1 g ? | e Al R o s H ey
4 30 a8 & IR R | PR QF Ay W
AR 1 2 2

35 94
(b) 38ad
() 3974
454

(a)

(d)

R a, b 3K ¢, By ABC & yord &, @
Ja + Vb - Je g®m:

(a) FVITCHE B
(b) GATNF B
(¢) U (non-negative) &

(d (non-positive) &

= ufeat (bells) & S FAW: 15 e, 25 fire,
35 e 3R 45 e & afque o awdt § | 3R
oft afeaf 9 AM. W worft &, @t s 72 9 §
g 3 fpat am ue Ty @t 0

(@ 0

31,

32,

33.

(10-A)

1A ST a, b, ¢ 3 d TN 4 qoilen
(positive integers) &, 30 THR
a+b+c+d=20[}% | 'ﬂﬁ,’

S=(-D*+-1P+(-1)°+(-1)4 %, A s H

frm awfm s & 2

(a) U

b) &
() ®H

(d) =R

gea 97 - 140 s
(a) 378 AfHa 83 @ T
(b) 838 AfF 379 &
(c) 373M 8331 @

(d) Ad37H, A 837

fraferfiga sot o faem it
1. logy 50 U 9REY HE R |
2. logygq 10 U AT T 2 |
Y4 HYAI § § PR T R 0
(@) *ad 1

(b) FaA 2

() 13 23

(d dd@ 1,32
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28. The age of Q exceeds the age of P by 3 years. |31.

The age of R is twice the age of P and the age

of Q is twice the age of S. Further, the age

difference of R and S is 30 years. What is the

sum of the ages of P and Q ?

(a) 35 years

(b) 38 years

(c) 39 years

(d) 45 years

32.

29, Ifa, b and ¢ are the sides of a triangle ABC,

then va + vb - Jc is always :

(a) Negative

(b) Positive

(c) Non-negative

(d) Non-positive

33.

30. There are four bells which ring at an interval

of 15 minutes, 25 minutes, 35 minutes and

45 minutes respectively. If all of them ring at

9 A.M., how many more times will they ring

together in the next 72 hours ?

(a) 0

b 1

) 2

d 3
JNBY-D-MTK (11-A)

Let a,b,c and d be four positive

integers such that a+b+c+d=200
fS=(-1+ (1" + (=1 + (-1?, then what
is the number of possible values of S ?

(a) One
(b) Two
(c) Three
(d) Four

The number 97°° - 14%° is divisible by :
(a) 37 but not 83

(b) 83 but not 37

(¢) Both37 and 83

(d) Neither 37 nor 83

Consider the following statements :

1. log,p 50 is a rational number.

2. log;qq 10 is an irrational number.

Which of the statements given above is/are

correct ?
(a) 1only
(b) Z2only

(c) DBothland2

(d) Neither 1 nor 2
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84. IR 17 ufEend 3tk 24 79 ok FW R 5 7 A

35.

36.

JNBY-D-MTK

0 W R 8 AN 12 wieemd ok 23 gew 3w
wW & 61§ wu = wwd #, @ Freffee §
dFRaad 2 2

(a) 13 Wigenalt i g = 18 goui Y 2&a
(b) 11 HiEe3A hi @A = 16 [oui I gaa
(c) 13 Wfgenafi #i qarar = 17 o6l i 2
(d) 11ufgensd H gg = 15 T H &

i 7 A, B 3R C TF @1 0% o =l 69 A
WU HHA & | T C Fhell 390 T H 12 92 F
W HHaT 8 | TH B WA & o, W 3z @
gl B, @ @A W % @Y @ v 9w
81 tUe & 9, 70 C H a2 = o I @
T B A g AT d | ¢ e
T R 7

(a) 1
(b) 2

A, B3R CTF T # FH: x, 1-5x 3N 2x
fAd@wa owd § 1 3R 3 & qm e
W B I 8, A T2 BT IR H T
o s w2

a) 2:3:4
ib) 6:4:3
() 3:2:1

(d) 4:3:2

a7.

38,

39.

40.

(12-A)

Frafafias ot w femm Hifte
1. n3—n,6ﬁ‘ﬂfﬂl%l

2. n’-n 5AWTE |

3. n’-5n+dn, 1208 WT R |
I FeE A @ wAR T@ 2
(a) Had 13K 2

(b) et 23K 3

(c) <had 13 3

@ 1,233

I S = 927 + 27° 1 3ifom FHH FR 2
(a)
(b)
(

c)

0w -1 D W

(d)

J’o—‘+1
Mx=F

R ?

Gﬂly V3+1

, ?ﬁxs—yaw

(@) 60
(b) 4543
(© 3043
d 90

& g UM § 71 i 1 15 km/hr B | 3R TR
T g # e A 42 km 3R w0 & Rgda
feam o 28 km T wwa # T =@ R, @y
A Fn
(a) 25 km/hr
(b) 3 km/hr
(e) 4:5km/hr
(d) 6kmr
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34.

JNBY-D-MTK

If 17 women and 24 men can do a piece of
work in 5 days and 12 women and 23 men can
do it in 6 days, then which one of the following
is correct ?

(a) Efficiency of 13 women = Efficiency of
18 men

(b) Efficiency of 11 women = Efficiency of

16 men

(¢) Efficiency of 13 women = Efficiency of

17 men

Efficiency of 11 women = Efficiency of

15 men

Three taps A, B and C together can fill a tank
in 6 hours. Tap C alone can fill the tank in
12 hours. To fill the tank, when it is empty, all
the three taps are started together. After
working t hours, tap C is closed and the tank
is filled in 8 more hours. What is t equal to ?

(a) 1
(b) 2
) 4
d 6

A, B and C can complete a work in x, 1-5x and
2x days respectively. If they complete the work
together, in what ratio should they be paid ?
(a) 2:3:4

(b) 6:4:3
(¢c) 3:2:1

(d) 4:3:2

LY R

Consider the following statements :

1. n’-n is divisible by 6.

2. n°-n isdivisible by 5.

3. n°-5n’+4n is divisible by 120.

Which of the statements given above are
correct 7

(a)
(b) 2and 3 only

1 and 2 only

(¢ 1and 3only

(d) 1,2and3

38, What is the last digit of the sum S = 9%7 + 27%?

39.

40,

(13-A)

(a) 3

(b} 6

ey 7

dy 9

If x = ﬁil ndy = j:+ then what is
the value x° - y ?

(a) 60

(b) 4543

© 30V3

(d)y 90

The speed of a boat in still water is 15 km/hr.
If it can travel 42 km downstream and 28 km
upstream in the same time, then what is the
speed of the stream ?

(a) 25 km/hr
(b) 3 km/hr
(¢) 45 km/hr
(d) 6 kmtr
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41.

42.

JNBY-D-MTK

T 10,000 ® 3 a9 F U 20% # s = @
TS ¥ & WA FH W whaly W o

WYV ST 1 37 791 8 2
(a) T 842
b) T 756
() T 641

(d) T 542

9g9Q (polynomial) a(b - ¢)(x - b)(x - ¢) +
blc-a)(x-c)(x-a) + cla-b)(x-a)(x-h)
& gey # fraferfes o w faam Hifve

1. xX*®H R 0R |

2. xHIMF @a-b)(b-c)c-a)B |
I FEl T 4 WA T B 2
(a) Had 1

(b) a2

() 13 23

@@ Fd1,T8 2

43. Wﬁl—x*xn+xn+l%ﬁaﬁﬁﬁﬂ%ﬁiﬂ

45,

(14-A)

ol R fifwe, w7 0 & gt gen

(natural number) 2 :

1. W1-%+x’THHE |
2. TW1-x"WWSTR |

I FeEl d § BRIA T R 0
(@) +ad 1

(b) e 2

(© 13k 23d

d Far1,Td2

maiﬁw_—fm:ﬁai%({ mx2+mx+8x+9 U
i R e

(a) 1,4
by 4,9
() 9,16
(d) 4,16
2
Mx=a+hs Eiﬂa:;)b
a+b ab

= +
y 4 a+b

HH R ?

2, W (x-al-(y-b2 H

(a) a°
(b) b
{c) ab

d) a?b?
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41.

42,

JNBY-D-MTK

What is the difference between simple
interest and compound interest on ¥ 10,000

for two years at 20% per annum compounded

half-yearly ?
(a) T 842
(by ¥ 756
(c}y T 641
(d) ¥ 542

Consider the following statements in respect
of the polynomial a(b - ¢)(x - b)(x - ¢) +

blc-a)(x—cl(x—a) + cla-b)(x-a)(x-b):

1. The coefficient of x2 is 0.

9. The coefficient of xis(a —b) (b—-c) (c — a).

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2

43.

45,

(15-A)

Consider the following statements in respect

+

of the polynomial 1 - x - x" + x"*!, where n is

a natural number :
1. Itis divisible by 1 - 2x + x°.
2. Itis divisible by 1-x".

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(¢) Bothland2

(d) Neither 1 nor 2

For what values of m, is mx’ + mx + 8x + 9

a perfect square ?

(a) 1,4

(b) 4,9

(e} 9,16

(d) 4,16

Ifx=a+b+ Eiaa_+b4)l:i and y = a;b N aa+bb,

then what is the value of (x - a)* - (y - b)? ?

(a) a

(b) b
(c) ab
d a’b?
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46. Tiafafga w faan $ifi 48. R tan® 0+ cot’ 0=m, @ tan 0+ cot © F
H =72 0

1. cos48—sin4ﬂ= ﬂ_n_(}_ 0<B< I

o’ 2
1-tan” 8 @ Jfm+2+2

1

2. cosecO+cotB= ———m—
cosec & — cot © (b) Jm+4+2
0<H<g
(c) \/,,Mm+2+2+2
aan2
3. cos28—sin29=w D<fhe X

2 a7 -
T+ tan? 2 @ [[foctize

I TR # g S geafend § 0
49. 6-4sin6, 0<0< > T HaH AH TR ?

(a) ad 13N 2 9
(b) Had 23 3 (&) 1

b) 2
(¢) wae 133

¢y 4
(d) 1,233

d 6

47. 'ﬂﬁsinF):%'E,?h

2 qn0 . °_ ant2 20e _
(tan B + sec 9}2 (cosec 0 — cot H)'z, 0<0c< g- 50. 4 cos”30° + 2x sin 30° - cot™ 30

6tan 15°tan 75° =0

& HE F1 2 9 _
W TE F T x A R ?
121
(a) —
4
{a) 1
b 169
9 b 2
() 196
9 © 3
225
@) 4 (d 6
JNBY-D-MTK (16-A)
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46. Consider the following : 48.
1 costf-sintes 209 g gl
1—tan’ 0 2
1
2. cosecO+cot= ——M
cosec 0 — cot 0
0<8< T
2
2
3. cos2@-sin’6= ltainﬁﬂ' 0<B<
1+tan“®6 2
Which of the above equations are identities ?
49.
(a) 1land2only
(b) 2and 3 only
(¢) 1and3only
(d) 1,2and3
. 12 .
47. If sinf= L then what is the value of
(tan B + sec 8)% (cosec 8 — cot 9)_2. 0<B< X2
2 |50.
121
(a) —
4
169
(b) —
9
196
(¢} —
79
225
d —
4
JNBY-D-MTK (17-A)

If tan® 0 + cot® 6 = m, then what is the value

of tan O +cot®?

@ Jym+2+2
Jym+d+2

© JJymezezs2
@ yJmed2+2

(b)

What is the minimum value of 6 -4 sin6,

0<o< X2
2

(a) 1

(by 2

d) 6

What is the value of x that satisfies
4 cos2 30° + 2x sin 30° - cot? 30° —
6 tan 15° tan 75° =07

(a) 1
by 2
() 3
d 6

https://www.pygonline.com



51.

52.

53.

JNBY-D-MTK

cos® 32° + cos? 58°
3 2 +
sec” H0° — cot“ 40°

4 tan 13° tan 37° tan 53° tan 77°
1 UH TR 7
(a) 2
b)) 3
(c) 4
d 5

(1 + cot? 8) (1 + cos 8) (1 - cos 8) —

(1 +tan” 8) (1 + sin 6) (1 — sin 6)
FAFTRTE?

(a) -1

?lﬁ 2c0529+sin8—2=0, 0<Bsg. e

HIAA TR ?

Mmia wla &la ;ma

FEhn TR % Y W @9 & A & FR
# THEEH Ta & W T f R AW g
2@ B | A ST v H 30° ¥ 450 B A
6 iz Tmd €, it gae Hfifes o 7% v
% ¢ e @ €, @ Frafafes § @ SR @
22

(a) T7T7<t<8

(b) 8<t<83

fc) 83<t<86

d 86<t<89

55.

56.

57.

(18-A)

TF AfET 9@ % 3% W@ 2, I o
wde A h (fix #) Jer w | 9 2@ R R
Teh 219 o 1§ 1 3T HI1 60° & 3 2R F
dd &1 3GATE BV 30° B | T H F9E =

27

(a) 2h
(b) 3h
(c) 4h
(d) 5h

T fifs ABC 5 cm, 12 em 3R 13 em Yenafl
arell Tk GoEviE Bye R | afe ofid A @ ool
BC T W WM 4l @@ i @@ p 2, @ 13p
& g 1 A 2

{a) 24
(b) 48
(c) 60

(d) 90

OABC T #Haq @ fes ff ofd ww qu w
fom 3 a3 0 2 | IR wmwgpde &
%1 323 T em ®, A g9 I B} 9

(a) 4em
(b} 6cem
(¢) 8cm

(d) 16cm
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51.

52.

53.

JNBY-D-MTK

COS2 32° + cos?® 58°

What is the value of 5
sec® 50° - cot® 40°

4 tan 13° tan 37° tan 53° tan 77° ?

—
()
[ L B - - N ]

What is the value of
(1 +cot® 8) (1 + cos 0) (1 — cos 0) —
(1+tan” 8) (1 +5sin 6) (1 —sin 0) ?

(a) -1
(by 0
e 1
d 2

If2c0528+sin8-2=0, 0<B< =, then

T
2
what is the value of 8 ?

(a)
(b)
(c)

(d)

B 3R dm A

A person on the top of a vertical tower
observes a car moving at a uniform speed
coming directly towards it. If it takes
6 minutes for the angle of depression to
from 30° to 45°, and further

t minutes to reach the tower, which one of the

change

following is correct ?
(a) TT7T<t<8

(b) 8<t<83

(¢) B83<t<86
(d) 86<t<89

56.

56.

57.

(19-A)

A woman is standing on the deck of a ship,
which is h (in metres) above water level. She
observes the angle of elevation of the top of a
tower as 60° and the angle of depression of the
base of the tower as 30°. What is the height of

the tower ?

(a) 2h
(b) 3h
(c) 4h
(d) 5h

Let ABC be a right-angled triangle with sides
5¢m, 12 ¢cm and 13 cm. If p is the length of the
perpendicular drawn from vertex A on the
hypotenuse BC, then what is the value of
13p?

(a) 24
(b) 48
(c) 60
(d) 90

OABC is a rhombus whose three vertices lie

on a circle with centre at Q. If the area of the
rhombus is 323 square cm, then what is the

radius of the circle ?

(a) 4cm
(b) 6cm
(¢c) 8em
(d) 16cm

https://www.pygonline.com



58. % T % YU &I%A K 26% ¥el @ S

59.

60.

JNBY-D-MTK

¥ AR p wh aEr § ufave st 2, o
frafafga A a s adi & 2

(a) 16<p<18

(b) 14<p<16
() 12<p<ld

(d) 10<p<12

UH 3 O F THEOWH A % < T §
w1 1 2 | fiw e o F Fa gf dewa
a4 8 TF N g TEE S A
T B 2

(a) 2:1
(by 3:2
() 4:3

(d) 5:3

TF AN F fawu ) F@E 11 em B | TWH

JEia 8T%A 240 T cm B | JHH darE, e
3R =TS 1 AT T R 2

(a) 16em
(b) 17cm
(© 18cm

(d 19cm

61,

62.

(20-A)

& iy fomdh et i @91 12 em, 16 em
3 20 em %, E3 méﬁ (inscribed circle) &1
SAFE (THT) TR 2

489 ¢m
SOHchm

{a)
(b)
(¢) 523 em

(d) 54 g cm

T 3 T-gda a7 ® A qEE S%A H
T F T E &%t & T % s R |
afq 3@ dem f F9r h i @ IR A
fre ¢ 3, @ Fraffan d @ Aa adi 2

(a) h=r
(b h=2r
(¢} 2h=3r

(d) 3h=4r

TF et 27d & 69 % AWM 30 m 60 em 3R
23 m 40 em 8 | TH UM AR F IER
e o e € wn-aen feed e
YR & ?

(a) 30
(by 36
(c) 169

(d) 221

https://www.pygonline.com



58. The surface area of a cube is increased by
25%. If p is the percentage increase in its
length, then which one of the following is
correct 7
(a) 16<p<18
(b) 14<p<l16
() 12«<p<l4
(d 10<p<l2

59. A solid cube is cut into two cuboids of equal
volume. What is the ratio of total surface area
of the given cube to that of one of the cuboids ?
(a) 2:1
by 3:2
(¢ 4:3
(d 5:3

60. The length of a diagonal of a cuboid is 11 cm.
The surface area is 240 square cm. What is
the sum of its length, breadth and height ?

(a) 16cm
(b} 17cm
(c) 18cm
(d 19cm
JNBY-D-MTK

61.

62.

63.

(21-A)

What is the area of the circle (approximately)
inscribed in a triangle with side lengths

12 ¢m, 16 cm and 20 em ?
(a) 48 square cm
(b) 50 square cm
() 52 square cm

(d)

54 square cm

Two times the total surface area of a solid
right circular cylinder is three times its curved
surface area. If h is the height and r is the

radius of the base of the cylinder, then which

one of the following is correct ?

(a) h=r
(b) h=2r
() 2h=3r
{d 3h=4dr

A floor of a big hall has dimensions
30 m 60 cm and 23 m 40 cm. It is to be paved
with square tiles of same size. What is the

minimum number of tiles required ?

(a) 30
(b) 36
() 169
d) 221

https://www.pygonline.com



64. TF ARG HI 25 FTRW GA%a I TF AR

67.

JNBY-D-MTK

wa 6 @W F 90 A 5 knvhr Y T
I8 9 4 R gwg @m0

36 firte
30 firge
¢ 24fme
18 fire

(a)

"H T r s e o g F siarta o @
g5 x ¢ ol @t 39 F il wwarg F
%y} | Fafefga d d smad 2 2

(a) 9x*=16y”
(b) 27x° = 64y*
(¢ 36x°= 49_3.72

) 16x% = 21y*

Ife ©F WA &) dEr ssg%aa;rém‘}%,a‘f

3G =g fora wfawa w8 ) 5w @it 3o
HAR T8 @ 2

(a) 50%
(b)
(c) 40%

(d)

45%

35%

8 cm 3R 12 cm Y 9IH TH AT F I

e m dF swfreed 9@ gu steeria
fran awer a1 2 2

(a) lﬁnaﬁcm
(b) 182 T cm

(¢) 20nTtem

(d) 24n T em

68. ABCD U& I 82 & f@d AB=x % | &H

69.

70.

(22-A)

FIER B F FZ 0 W 2x F9% F
Tl @ OP @S & | AR £ APO = g, [l
cot{imw%?

J2

(b) 2

(c) 2V2

342

(a)

(d)

T I HAg I e H frgeman s # ok @R
F AW AFA YA W A 64 B gEH
AR 1 3@ 7 73 I | 9 g F i
e & @it 3 S % g e ¥
ATHEA § I IR 2

(a) 025
b 05
© 075

(d) 1

& B9 ABC #1 9R @1 fiyei P, Q, R, S &
Fia1 mn @ s ofem s 16 em, 12 em,
4em 3N 12em ¥ | P, R 3R S ofd fag s
A, B3R ¢ fafea | @ ABC 1 oftrm &
27
ta) 18cm
(b) 20cm
() 2Z2em

(d) 24cm
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64.

87.

JNBY-D-MTK

How long will a man take to walk around the
boundary of a square field of area 25 hectares
at the rate of 5 km/hr ?

(a) 36 minutes

(b) 30 minutes

(¢) 24 minutes

(d) 18 minutes

Let x be the area of a square inscribed in a
circle of radius r and y be the area of an
equilateral triangle inscribed in the same
circle. Which one of the following is correct ?

(a) 9x°=16y°

(b) 27x°= 64y2
() 36x°= 49}'2
@ 16x°=21y*

If the length of a rectangle is increased by
66%%, then by what percent should the width
of the rectangle be decreased in order to

maintain the same area ?

(a) 50%
(b) 456%
() 40%
(d) 35%

What is the maximum area that can be
covered by three non-intersecting circles
drawn inside a rectangle of sides 8 ¢m and
12cm?

(@) 16w square cm
(b) 18m square cm
() 20m square cm

(d) 24m square cm

69.

70.

(23-A)

ABCD is a square field with AB = x. A
vertical pole OP of height 2x stands at the
centre O of the square field. If £ APO =8,

then what is cot 8 equal to ?

(a) 2
by 2

© 22
@ 342

A solid iron ball is melted and 64 smaller solid
balls of equal size are made using the entire
volume of iron. What is the ratio of the surface
area of the larger ball to the sum of the

surface areas of all the smaller balls ?

fa) 025
by 05
) 075
d) 1

A triangle ABC has been divided into four
smaller triangles P, Q, R, S whose perimeters
are 16 em, 12 e, 4 cm and 12 ¢m respectively.
P, R and S contain the vertices A, B and C
respectively. What is the perimeter of the
triangle ABC ?

(a) 18cm
(b) 20cm
(e} 22cm
(d) 24cm

https://www.pygonline.com



3T 37 FIT TG (10) TP 3 forw -

T YW 8 U W ¢ oo e @ wea 8§ |
frfafaa et &1 3@ | IR T #@
Waﬁt{:

(a) %% fawea = i afe 9= =1 W
F9d 0F F99 ¥ o o1 g @ af
T YA & T8I foan = whan |

(b) 7 fowcy = difsm afe g & 3@
it smaftaasa ¢ |

(© ¥ fopes = i IR w7 &1 3
AT FA A I e B o ww
2, TR Hael T HYA HI ITM § TR
I T8 e 1 wehar |

@) IE fawen 9w Hif o 3 s =
T H1Y I9AT | et I I T
fon s @wan |

72.

73.

74.

71. UF H&AT 277XY5 (& X, Y 3% §) 25 ® W9
2
75.
7 ; XH AT HEIE?
FYT]: VWEITETOTWHR |
FI: X>5.
JNBY-D-MTK (24-A)

a, b T ¢ & fgda o= 7 & AR
TR ax® + bx + ¢ = 0 1 T Td 2
20

3T

FUF[: cBad T 18 |

FYTI: b8 a SIE (-52)8 |

I3 Wm>n,ﬁﬁm,n¥@ﬁ(ﬁ@1ﬁ%?

m
— > 1.
n

HYTI:

HYTI: m>2n.

gv7 . ®0 A, B3N C gl & oA g &

I e 1wt 2
HeEl : AB=5cm, BC=5cm,
CA =6 cm.
YT I : AB=3cm, BC=4cm,
CA=7cm,
x 3 y AP famm quifee & |
T W (x + y) B WA AfgdE WA
futfa fFr ST g 2 2
HY] ; (x+y)4=256.
FTII : (x+y)° <18
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For the next ten (10) items that follow : 72. Question: What are the unique values of a,
) ) b and ¢ if 2 is a root of the
Each item contains a Question ] 9
equation ax“+bx+c=07?
followed by twe Statements. Answer
each  item using the following Statement I : Ratio of c to a is 1.

instructions :
Statement II :  Ratio of b to a is (— 5/2).

(a) Choose this option if the Question can be
answered by one of the Statements alone
but not by the other. 73. Question: Ism > n, where m, n are non-zero

numbers ?

(b)  Choose this option if the Question can be

m
answered by either Statement alone. Statement 1. n >1
()  Choose this option if the Question can be StatementII:  m>2n.
answered by using both the Statements
together, but cannot be answered by
using either Statement alone. 74. Question: Can a circle be drawn through the

points A, Band C?

(d) Choose this option if the Question StatementI: AB=5cm. BC =5 em
cannot be answered even by using both CA =6 cm

Statements together.
Statement II: AB=3c¢m, BC=4cm,

CA=T7cm.

71. A number 277XY5 (where X, Y are digits) is

divisible by 25.
75. xand y are consecutive odd integers.
Question :  What is the value of X ? Question: Can the value of (x+y) be
determined uniquely ?
Statement I : The given number is
divisible by 9. Statement I:  (x +y)* = 256,
Statement II: X 5. Statement I - (x +y)° < 16,
JNBY-D-MTK (25-A)
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76. ¥ Wp2+q2+qﬁqq%,3|ﬁp,q

YA Uit § ?
HYTI: 2p+qﬁﬂq%|
HUTI: q-2pfawm |

77. 99 : 9 CH 8I%0 18 ?

FYTI: 7cm AdS H Th 99 CF Hg T
30° 1 FHI0 afd w4t 2 |

FYTI: 10 cm TETE H TF FAH CF F2 |
90° %1 IV AR HTA B |

78, Y9 : o B A wmenfia 0

79. T a ¥ @ = el A dersai 25 em 3

24cm B |

o7 ;. qad Bid g i weE Fn g 2

FFI: AFH1:2:3% AU d & |
FYFIl: g WY 9 A I gEE 981 I W
@Y T o9 B @S 672 cm B |

80. I9 C I TF a1 PQ W 3 Wl § W YN
faufsa it & fo ddas % &awa &1 3T
LGS & %A » 4 T & TOH 2 |

I - Cﬁﬁma‘m%?

FYT] :

ATEE FI FTHA 66 cm R |

FYTII ;

< 1 96d 889 cm B |

Fg7I: A H P g & wenfaga #
M A T @ A FEE, A H

dral s it dar A ot R )

FITI: AFH1:2:3% A H 4 |
JNBY-D-MTK (26-

A)
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76. Question: Is p2 + q2 + q odd, where p, q are | 79.
positive integers ?
Statement I:  2p +qis odd.
Statement II:  q - 2p is odd.
77. Question: What is the area of the circle C ?
StatementI:  An arc of length 7 cm
subtends an angle 30° at the
centre of C.
Statement II: A chord of length 10 c¢m
subtends an angle 90° at the
centre of C.
80|
78. Question: Istriangle A right angled ?
StatementI:  The length of the line
segment joining the
mid-points of two sides of A
is half of the third side
of A.
Statement II:  The angles of A are in the
ratio1:2: 3,
JNBY-D-MTK (27-A)

The lengths of two longer sides of the triangle
A are 25 cm and 24 cm.

Question: What is the length of the

shortest side ?

Statement I:  The angles of A are in the

ratiol:2:3.

Statement II: The  length  of  the
perpendicular drawn on the
longest side of A from its

opposite vertex is 6-72 cm,

A chord PQ of the circle C divides it into two
segments such that 3 times the area of the

major segment is 4 times the area of the minor

segment.

Question :  What is the radius of C ?

Statement I : Area of the minor segment is
66 square cm.

Statement II . Area of the major segment is

88 square cm.

https://www.pygonline.com



a7 3 T 2 (02) T & form Ay 3 w|se. IR MEEE R, A IMF AR TR ?
faem #HT ;

(a) 53%
FE_ | 0-30 | 30-60 | 6090 | 90120
TR | 4 5 7 4 (b) 60
8l. §H FI IFTH F1 8 ? (€ 160
(a) 60 (d) 180
(b) 72
© 75 85, UH UFH =iy $1 §I%a 200 T HeX R |
@ 8 Tg TG b JHR H R R TwE TEd IR
<o 2: 1% JAUE A & | WHH Wi A B
g2. 3k wierwm () sk wgEH (Q HaW AR A 1m G 3T R | B9 F &Ae A oo
7Q - P) = 9R F HGE F@ 3, A R AH 0 & amy e sfoaa i Tgrad g 2
&7 (a) 40%
@ 6 b)  32%
o0 (e) 20%
e} 3
d 155%
@ 1

P} 9T @ Gt (02) ¥ & NG ARG SeT W ge 44 om S YW1 N T FiER e B IER

e F TE YO % GIY-91Y Td O 3 TR T ao
0 40-50 | 50— 60 | 6070 | 70 - 80 @ 6 seh fedd R W
SRS 4 3 1 2 ! W WY FE OB | AOH H A /R 7

(x= 2 fifim)

83. I & HTSH HT R ?
{a) 6776 94 cm

(a) 51

(b) 52 (b) 6248 ¥ cm

() 54 (¢) 5896 ¥4 cm

(d) 56 (d) 56804 cm
JNBY-D-MTK (28-A)
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Consider the following data for the next|84.
two (02) items that follow :
Class 0-30 {30-60| 60-90 | 90-120
Frequency 4 5 7 4
81. What is the mode of the distribution ?
(a) 60
(b) 72
(@ 175 85.
(d) 80
82. If the median (P) and mode (Q) satisfy the
relation 7(Q - P) = 9R, then what is the value
of R?
(@) 6
(b) 5
(¢) 3
d 1
Consider the following data for the next
two (02) items that follow : 86.
Class 40-50 | 50-60 | 60-70 | 70-80
Frequency 4 3 1 2
83. What is the mean of the distribution ?
(a) b1
(b) 52
() 54
(d) 56
JNBY-D-MTK (29-A)

If M is the median, then what is the value of
3M?

(@) 53 %
(b 60

© 160
@ 180

The plinth of a house has an area of
200 square metres. It is rectangular in shape
and its length and breadth are in the ratio
2:1. The owner of the house extends the
terrace by 1 m on each side. What is the
percentage of area that has increased in the
terrace relative to the plinth ?

(a) 40%
b 32%
() 20%
(d) 15-5%

A square sheet of side length 44 cm is rolled
along one of its sides to form a cylinder by
making opposite edges just to touch each
other. What is the volume of the cylinder ?
(Take nt = %) https://www.pygonline.com

{a) 6776 cubic cm

(b) 6248 cubic cm
(c) 5896 cubic cm

5680 cubic cm

https://www.pygonline.com



87. TH AN F HA 3600 €1 cm B | T A | 3y 7 @i A7 (03) ¥ @ forg Feffed w
HOE! & BERA 2251 cm 3 144 9 em B || B
WWWWWW'B? ﬁ'ﬂﬁf ABC ﬁ, AB=6ecm, BC=8cm AR
@ 4007 cm AC=10em? | B el T &4 Y1 ACH DW
(b) 360 em firrar @ | BD frown (B ¥ % @) F1 T 99 AB
(¢ 320FMem 3t BC # ®AW: P 3 Q W wear @ 9@ g §
(@ 300 cm feaman T 2 |
O O W L i
36 cm 3R 54 At cm ¥ | Fol hi g TR 2 F 2
(a) 12cm
(b) 1l4cem
(¢ 15cm B Q
(d) 16 cm
89, W efifig
X={x|x=2+4k 78 k=0,1,2,3,... 24)
2 | 7 fE S, X #1 30 THR F AT B
f5 5% fdl o Q oradl w1 e 100 7|91 QCH TE R 2
2| s ¥ fueam wwfya sEEl ft wem (a) 4-4cm
forerft 2 2
@ 10 (b) 42cm
b 11 (© B36cm
© 12 @ 32cm
@ 13
" 5-zmﬁwaﬁ@%@ﬁmwm92' afe £ ABD = 0, & sin 6 fohEs Tt 8 2
164 cm & | Fi5aw@s &1 895 #01 ¢ 2 (a) 04
(a) 156 cm B 05
(b) 159 em
(¢ 1449 cm © 09
@ 1419 cm () 08
JNBY-D-MTK (30-A)
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87.

89.

JNBY-D-MTK

The volume of a cuboid is 3600 cubic cm,
The areas of two adjacent faces are
225 square cm and 144 square cm. What is the
area of the other adjacent face ?

(a) 400 square cm
(b) 360 square cm
(¢) 320 square cm

(d) 300 square cm

The perimeter and the area of a right-angled
triangle are 36 c¢m and 54 square cm
respectively. What is the length of the
hypotenuse ?

(a) 12cm
(b) 1l4cm
() 15cm
(d) 16cm
Let

X=1{x | x=2+4k, wherek=0, 1, 2,3,...24}.
Let S be a subset of X such that the sum of no
two elements of S is 100. What is the

maximum possible number of elements in S ?

(a) 10

(by 11
(e) 12
(dy 13

The perimeter of a sector of a circle of radius
52 cm is 16-4 cm. What is the area of the

sector ?

(a) 156 square cm
(b} 15 square cm
(¢) 14-4 square cm

(d) 14-1 square cm

Consider the following for the next three (03) items
that follow :

In the triangle ABC, AB = 6 cm, BC = 8 cm and
AC = 10 cm. The perpendicular dropped from B
meets the side AC at D. A circle of radius BD (with
centre B) cuts AB and BC at P and Q respectively
as shown in the figure.

A

P D

81. What is the length of QC ?

(a) 44em
(b) 42em
(c) 36cm
(d) 32cm

92. If ZABD =6, then what is sin 0 equal to ?

(a) 04
(b) 05
(c) 06
(d 08

(31-A)
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93. WA fsmando

(a) 5cm
(b) 4-8em
(c) 44cm

(d) 4cm

o s @i T (03) N F fow Aeffee W

faam #ifg

95. I T 1 Hkel R 2
@ 503-2)dem
(b) 25(3-242)Fem
© 25(3+2v2)F em

(d 50(3-242)T em

9¢. TBIET & F FAFA 8 2

92 fau M ant@ #, @k @ PQRS % oA UF I (a) (96 -25m) T cm

2| PR W U gd R 09 4 cm x 2 em B 3R

R&M T w& a1 @i T 8 |
S R
p)
P 4 Q

94, I FHI QAR T8 ?
(@ 100n T em
(b)  96n T em
© 50n& em

(d) 48n T cm

JNBY-D-MTK

() (92 -25m) T em
(© (96 -16m) 1 em

(d)  (92-16m) T em

HF 3 a3 (02) ¥e % o Aefifea W faew
T

frr ot #, r Bow % w39 F ol OF I
ABCD 2 | £ DAE = 30° 3R £ ACD = 30° fam

TR |
30°
00
A B
(32-A)
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93. What is the radius of the cirele ?

(a) bHem

(b) 48cm

(c) 44cm

(d) 4em

Consider the following for the next three (03) items
that follow :

In the figure given below, a circle is inscribed in a
square PQRS. A rectangle at the corner P that
measures 4 cm x 2 em and a square at the corner R

are drawn.

S R

What is the area of the circle ?

(a) 100n square cm

(b) 96n square cm

(¢} 50m square cm

(d) 48msquare cm

JNBY-D-MTK

(33-

95. What is the area of the smaller square ?

(a) 50(3-+2) square ¢m

(b) 25(3-2+2)square cm
(© 25(3+242)square cm
(d) 50(3-2+2)square cm

What is the area of the shaded region ?

(a) (96 - 25n) square cm
(b) (92 - 251) square cm
(c) (96 - 16m) square cm
(d) (92 - 16n) square cm

Consider the following for the next two (02) items
that follow :

In the following figure, a rectangle ABCD is
inscribed in a circle of radius r. Given
ZDAE = 30° and 2 ACD = 30°,

30°

09

A)
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97, I F A%A FI I & ATHA ¥ I T
27
(a) %
(b) %
(¢) %
@ %
98. A AEC %1 8% 71 2 2
(a) 3,_—:
(b) E‘%
(c) %
(d) %
JNBY-D-MTK

3 377 aret 7 (02) T & fore Referfaa w faer
o .

fir oM@ d, 0 % T W IU F AN @
e ABC & | WA #fu sPOA=x 3
Z/0QB=y° 8 | 3% & OB=BQ ? |

C

99, x3MyFFTFMTEUE 7

(a) x=y
(b) 2x=3y
() x=3y

(d) 3x=4y

100. IR y = 15, £ ACB fFes Fu=n 2 2
(ay 30°
(b)y 40°
(0) 45°

(d) 60°
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97. What is the ratio of the area of the circle to the | Consider the following for the next two (02) items

area of the rectangle ? that follow :

In the following figure, a triangle ABC is

(a) —
v2 inscribed in a circle with centre at O.
Let £ POA = x° and £ 0QB = y°. Further,
n OB = Bq.
by —
J3
2n
) —
J3
3n
d)y —
V2

C

99. What is the relation between x and y ?

(a) x=y
: 9
98. What is the area of A AEC 7 b  2x=3y
re () x=3y
(a) —
J3
(dy 3x=4y
I‘2
(b) — 100. Ify =15, then what is £ ACB equal to ?
2J§ y q
{a} 30°
2
r
{c) —_— (by 40°
33
(c) 4b°
2
o d) 60°
J3
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g
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